4.6 Rhombus.notebook December 03, 2018

DO NOW

In parallelogram DEFG, m« D =2x + 35
and m«F = 3x + 15. Find the value of x.

wf{/ Dy >S = 2x4 1S
/km 20 =%

Dec 13-9:57 AM

A rhombus is a quadrilateral with 4 congruent sides

AB=BC=CD = AD

K A chombus 1S a ?o\ro\\\ﬁ\ogxfoxm\]}(

A l'\om\gus i NOT a v ecr\-o\v\@\e_

Dec 10-10:33 AM
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Properties of a Rhombus

B C

A D
ALL the properties of a parallelogram, PLUS:
» The diagonals are perpendicular
AC_ BD
\;EH(X
e The diagonals bisect its angles

Dec 10-10:36 AM

1) ABCD is a(parallelogramjwith AB = 2x + 1,
DC=3x-11and AD =x+13. Is ABCD a
rhombus? Explain your answer.

D 3xpii C Bx-1l= Qy + |
X =12
Ves ABCD s a vhombus
A lXi—] B becaunse — 15 0 fﬂvé\\\o\\’)B\mM

@ with Q C&nﬁc&qf\{\/( 5‘0\45 =

Dec 13-10:07 AM



4.6 Rhombus.notebook December 03, 2018

2) Given thombus MATH with m =M = 74°.
What 1s m« MHA?

(8D=-74 =[0G

ZELMHA=533

Nov 30-9:54 AM

3) Inrhombus DOGS, DO=2p +9

and OG = 3p - 6. D 2p+9 O

Find GS. !

Lo+ 9= Op -0 =t
}5 — ’P s l,MEIIhBIlSCGﬂ'IG

Q(s5)+9 = 39
3015)-(, = 39 G 3= 39

Nov 30-9:55 AM
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4) In thombus ABCD, m -ECB = 5a+4
and m-EBC = 8a - 5. D

Find m <EBC.
Sat+4 +8a-5= 40

|2a = 9|
0\:7
g(1)-3
MLE%(fSD

Nov 30-9:56 AM

5) Given: rhombus ABCD,FG
diagonals E,A_C
EG L CB;EF 1 AD

Prove: EF =EG

Nov 30-9:51 AM
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